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BEHFHREBMEDER 18I0 T SDNEDT D ~ IR TUE
MEBDLEBLERNZD - FFEELNRESE - WL - WMIFI—HES
BENHBMEREFNRESL -

O 18K

K ig Ak 5w A @ 1205 go up ~increase * grow * add * develop *
enlarge ~ expand * swell ~ broaden - spread ~ lengthen » multiply *
intensify *rise ... ESEJXNZENEFIH - BN EE R 5 increase »
growth ~ expansion & -

m i 4> Bl O] {&¢ A decrease - decline - fall » lessen * go down ~ drop
off ~ shrink ~ contract - taper off ~ slacken ~ reduce -~ shorten ~ lower -~ cut »
curtail ... 58039 - :398|%5 decrease * decline * reduction & -

i

LB =

Increase in the cost of living is a serious problem.

- T8 A K8 A (e ] -

O L

O] FH compare ~ bear comparison with * contrast  match -~ parallel -

compete with or against ~ be equal to ~ be equivalent to F33= -

{5l Our products compare favorably with those of our competitors.

KAl mE SR E T » AR E S -

O Bkl ~ B3
= 1& 18 [d 58 = B 1& rate - ratio - proportion - scale - level * percent

rank - grade - class * worth ~ amount ... &% -

{51l The proportion of the union members to the total employees is 40

percent. T {ynk & 5458 8 THEET 40% -
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(&518)
B13&F in the red - losing * unprofitable - defeated - ruined - failing »

collapse - breakdown - erode ... FaR% ¢

f5ll The foreign operations got out the red.

A E S Wl SR

»R-dur

o] 21{E5H expense ~ expenditure - price » payment charge - outlay ... &
30 o
o

|| Our CEO told us to keep our expenses as low as possible.

FAPIAA T S o5 A T SR AT -

0  HEpEsEnEEss 7

e

fREELD » BREXISEEREIR (valuable resource) » MEPTERPHE
= LARTRE 7R B E 8/ K E1T (time-based competition) - &2 J£ 1 Y ENHY
(save) ;R 30 » BIFERVFEE (consume) FITVHHEAY I &EE CHEE TTET AT
RS — -

MmELFEFTEE Time flies like an arrow. RUERE » I§7£ 52 Time flies like
a jet or at the speed of light. BUF{t + —UJ&RINE (accelerate) E{TE -

O H MR BRENEKELT
(Fo&sd ~ &l53)
B ¥5 quick ~ rapid ~ fast ~ speedy -~ swift » express * high-speed »

instantaneously * prompt * hurried ... &= °

7| We must finish it in quick motion.
FAMPIRPSRFERY, ©
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{ Introduction

ait e, TRORES.

N B 48 1Y 5T [ 12 % (yardstick / measurement) B 5 7| & (profit) - K I8 &R FTE
i (theory) » REIREERAE LI EHIF (social contribution) » BERFIERHA
(stakeholder) FTHES - i » fEIEHPISHKEENER -

RTELFE » FTIAERE (capital) » BEERAMHE « 58] NENBER ' =
EZEWNABMEERE —FMENAEER  TEBEPR » FEXERBTENERNEIFIZ
B - ESEEIPIEMNET  SIEATE  BRELFER [EFEFE) oA -

FMEREE IS F E(profit) = W A (revenue) — # & Bl & (cost of
sales) — S EE S EHEE [ (selling and general administrative expenses ' fE5 4 SGA
expenses) - EHILEHR » 1IBINWE « FIERENZE « HIE SGA F » FLEIBINFERSE
1\ (equation) ©

SN » BAREFH LR IREWE (investment efficiency) AE S + LUSE HEN
# (retun on investment = ROI) ZEEFSIEF - I—RRIRE AR B KIFEREICE (level of
share price in stock market) + CAES# (dividend) - JBFIZE (yield) FHA S - SEEEA
E (top management) Bl CUBIIF|BREEE/LSIZTE (corporate plan) » M4 T EIR
NEIETE » FEFIX DRIEEERVETETE (implementation plan) + ZEMHATETER
ETREESREGFE - BERRRMESHENEEIEEEE [ExEE ) B [IR{OMNE
7 | BRfREERER -

' pretest

EENRRZER] - BASKRR — TR rE SRR ZELD I IERE
U

1. BRELITEEMRARDES
"1 (1) salesrevenue
. 1 (2) profit ratio
1 (3) recurring profit
| (4) R&D expenses
.| (5) inventory

| (6) bad debts

e e
i ™ e Cmea® et



| (7) capacity utilization ( )
_ (8) productivity ( )
1 (9) short-term liability ratio ( )
_ (10) equity ratio ( )
(1) sales and administrative cost ( )
| (12) ROE ( ]
| (13) dividend ( )
| (14) over-the-counter stock ( )
| (15) corporate bonds ( ]

2. S8t (a) ~ (e) BETYAAHEMARNERER
| (1) gross profit ratio

_ (2) inventory turnover ratio

1 (3) goods-in-process

| (4) total market value

| (5) CP (= commercial paper)

(a) EXRTHERNES  MEEMHEPHET BEEN—ELR
(b) ZISHARRIEY) » BFRFE R SRR

(c) —FRRREESREFIERN - BERERRUATIIEEKRE
(d) SEEFRBERENE  BIRLIEER LR

(e) AR LMEFERRERN

1. (1) HEE (2) BHE (3) EEMAEA (4) HEEHE (5) 78 (6) Rik (7) EEFIHE (8)
£EH (9) HHIR@ELEE (10) WBELEE (1) HERBEEA (12) RFEESERE (13) B
(14) FiEERSE (15) LAEHE

2. (1) d (EFE) (2) ¢ (GTEEIFE) (3) b (EHF) (4) e (BHIE) (5) a (HEFE)
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4 cxxE F 8

1. Inventory turnover ratio is X times per year
FEEBREFF XX
BiNEEESEEZE="N -
Our inventory turnover ratio is three times per year.

2. Increased from the equivalent of X days of supply to Y, an

Increase of Z days’ supply
IEfHEDS X XEVREEIRINE Y X » 18I0 5 Z XAVREE

HFMEFEIOHEEDR 38.5 RAVRMRIZINE 40 X » 18I0 1.5 XAIHEE -
Our inventory increased from the equivalent of 38.5 days of supply to
40, an increase of 1.5 days’ supply.

3. Improved by X percent to ... & 5 X% + M&REl---

HFIRYAIBEECE 7 30% » R2| 10 BEEERINE -
Our dead stock has improved by 30 percent to the level of JPY 1 billion.

4 a5 BRI
1. [FE ) BETH inventory % » tHT]FH stock © T inventory turnover ratio 712 FEEEE ) -
2. ... days of supply =1& OI{HESSY | » MEILIESR—XEEREMAEIEHE -

e bad stock / bad inventory RiEEE
« finished-goods inventory S REFE
+ slow-moving inventory EiEFE

» out of stock i N=1
» stock-taking fiZ%L = inventory count
WO 135508 check!

inventory turnover ratio (GEFEEX)



—FRIEREEREFAE » BT IEE (annual sales) FRLIFIIFE (average inventory) 3K
8 .

&/ Exercises 4

s ~YIRXEF () REVEMDRGEER THPIME ) « WERFAND MEEaEE] -
O —KER - FEEERAENEEEFEANGT -

Generally speaking, corporations (ratios turnover poor inventory) make
poor profits.

@ BREMNFEREEIE T 30% - FERFIESITEREIEH T 40% » 2KE| 30
EHE -
As (ratio our improved tumover inventory) 30 percent, our recurring
profit ratio increased (JPY 3 40 percent billion to).

® AR TFHNETEEE » BfISTHrRFTENE THIEhXAIERES -
Our inventory of this year (by days supply improved five of)
because of careful inventory management.

M

(J Answers 4

BEDEFENTOERERE -

(D Generally speaking, corporation (with poor inventory turnover ratios) make poor profits.
make profit JEF|

(@ As (our inventory turnover ratio improved by) 30 percent, our recurring profit ratio increased (by
40 percent to JPY 3 billion).

@ Our inventory of this year (improved by five days of supply equivalent) because of careful

inventory management.
inventory management FEEIE

Useful Expressions

At ( ) MIEABCATRIBIERS » LI TEa -

KMy RamGFTE ( &%) g ( mA) HEXHE - KMLiafee
kg | — M8 H -

Our finished-goods inventory is (T ), equivalent to ( months) sales,
and we must cut it down to one month.
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Rewew 1

o S e ) i T = . . ) - - «

Rz sl AR o fﬁ?ﬁfﬂ"¥1$ﬁﬁﬁﬂﬂﬁﬁﬁ (BEES ﬁ%%mﬁ)

N 5s L TihiEeEREES -

(1) recurring profit (2) ratio of R&D expenses to sales
kS HHiF
7%
(3) goods-in-process turnover ratio (4) capital-asset ratio / equity ratio
s HHGF
i EF%
(5) PER (price earnings ratio)
g

I =il FaoEEsaRnGEE

(1) netincome =

(2) stock-taking =

(3) payment deadline =
(4) rate of dividend =
(5) total market value =

[ ExighyeEs  RERDEAESHERURRENGF -
(1) BFRELRBREETEST 15% » (DRMREBEMIBLIRN  SUEIER R

i 5 5% °
Qur (® ) (@ ) (® ) improved by 15 percent last year, but
due to increases in (® ) (® ), the (® ) (@ ) (® )

(® ) by 5 percent.

(2) BFECERYD T 30% BIRIE « RiMEE 5 3,000 FEHERVENEF] -
We were able to (© ) our (@ ) (@ ) (® ) by 30
percent, which contributed to an (& ) (® ) of JPY 30 million.
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(3) HRRIEERE » B LBRYEEF BEEFER 95% 8T 80% -

Due to the recent (@ ) (@ ), our (@ ) (@ ) (® )
has (® ) (@ ) to 80 percent from the (@ ) 95 percent.
(4) T BEQTR - FFIFVERLEERYE 25% BIEE] 15% °
Our (@ ) (@ ) has (@ ) from 25 percent to 15 percent
(® ) the past five years.
(5) HIATES » HikEZER 15 BEAVIRERFE 7% BVARZERF) -
We declared (@ ) (@ ) (@ ) of JPY 15 plus (@ )7
percent (& ) (® ) (@ ) share.
(6) HPIREILIEE 12 ETARWNEET ABC LETEMAENRE -
We have made a (© ) (@ ) for all the (@ ) (@ ) of

ABC Inc. (® ) (® ) (@ )of US$ 12.00 (® ) share.

[ EEighEs  EEEE () hpaEeE -

(1) HPISEREENAREERBEENNDZ— -
Our sales revenue this year (plummeted the one-fourth of year only
to that previous).

(2) BEBETHEE » RPIREZELD 25% BAREA -
We should reduce (percent by compared and with expenses 25
development last year research).

(3) BMNSUBTAEELTE 2,500 BHE -
(production employee our amounts million JPY 25 annual output
per to).

(4) BPIRVABLEERFB(EE 130% » LEEFET 35 B8 -

(than points year lower which 130 percentage percent our
current ratio deteriorated is 35 to last).

(5) BFIRVATIEERERRE 30 (EHE » SEE(EERY 15% -
Our bonds (©» JPY 3 have billion an of outstanding balance), which
(@ of liabilites 15 represents percent its).

183

e 1L et e
h N £ [+ 9 i



(]

S{e[al Telolalar”
N N

| i

| W W

| B BEN

IiEEs = mn

- [ R N

I]L 2 BEEE BB

i) ] " B BEER B EE N
= R R R R R RBRRRERRERIEB
e B B B EEEEEEERE BEEREEERER

T R T 5 B A



7 e SR 4T ES WL B SR Monetary Policy of Central Bank

1. PREBITHEREZERIEENE  BEXE - EXNEENRRIEEER -

The central bank’s policy objectives include stabilizing the prices of goods,
reducing the inemployment rate, pursung economic growth, and stabilizing the
exchange rate.

2. EMHIGT 078 M1a ~ M1b & M2 —iENERIEE » & M1b HIFIBER T H
5 » HIRHEFIZHER -
Money supply can be divided mto three different types: M1a, M1b and M2. When
the annual growth rate of M1b increases, 1t 1s good news for the stock market.

- Mia =iftBENBE (currency) + 2= (check deposit) +HEA7F#T (demand
deposit)
M1b = M1a +EHREE S (demand savings deposit)
M2 = M1b +ZEE% (Quasi-money)

- EEMAETEGEM (time deposit) « MHFETIRE « NEFNF -

3. EMHREENAITE LEXRRIMNESENRR  tRRRER » BE
MERLRAEENER - SRERRKESHFRNFZ -
Monetary policy refers to the use of economic tools to expand or reduce the supply
of money. In a recession, the interest rates are lowered to stimulate economic

growth: on the other hand. if the economy gets overheated. the interest rate should
be raised to cool it.

4. EMPRTASEERR - BIRR - NRMIBRES -

Monetary policy tools include the reserve rate, the rediscount rate and the open
market operations, etc.

!O BABEANEE check! "

SNIRXBNARMBIRE

SHBRENARBOOPREBOMEESHINAE » PRBIOTEHEBIRERE - FEEEETS
HYE RN -

NEMBIRMERIEPRIRTR T AEMBETNL - T ARTE CEEBEEHMTS - WAk
WOMEE  IOiROTEERESS  ZRRNEZMRRTNE -
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